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Calculer la longueur manquante.
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Calculer la valeur exacte de AC 2) Calculer la valeur exacte de AB
? A C
C
3 cm 3 cm 2 cm
5 cm
B A
B ?
Calculer la valeur exacte de AC 5) Calculer la valeur exacte de AB
B C
4
2 cm & o 1cm
A B 2 A
9 c
$< o o o o o o o 6 6 o o o o 6 6 6 6 o o 0 6 6 & & s o e 6 6 6 & 8 s e 6 6 6 6 6 s e s 6 6 6 s e e 0 6 6 s s e s .
AC = /16 em 2) AC = /5 cm
V16 cm A C
C
3 cm 3 cm 2 cm
5 cm
B A
B \/5 cm
AC =121 em 5) AC =+/15cm
B C
4 .
2 cm 5 cm o 1cm
A B A
V21 em C V15 em
Fiche créée le 13/02/2022 a 15h05 S PYTO6

Calculer la valeur exacte de AB
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